Worksheet # 4 Name:

Provide the Scientific Notation or the Value:

1280 = | ** 551 x 10° = )
> 69 = 2. 21 x 10° =

332,000 = 13. 7.4 x 102 =

42,000 = ¥ 7.7 x 10t =

> 57,000 = 158,668 x 10° =
900,000 = 6. 59 x 102 =

7 710,000 = 76,4 x 10° =

8 13,000 = 18. 2 8 % 102 =

% 54,000 = 19. 5.4 % 10° =

10. 24 000 = 20. 5.7 % 10t =
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Worksheet # 4

Name:

Provide the Scientific Notation for the Value:

-

(1. 280 = 2.8 x 102 1 1 5.51 x 10° = 551,000

2. 69 = 6.9 x 10° 12. 2.1 x 10° = 2,100
332,000 = 3.2 x 10* 13. 7.4 x 102 = 740

4 2,000 = 2 x 10° 4. 7.7 x 10* = 77

5. 57,000 = 5.7 % 10* 15. 8.668 x 10° = 8,668,00(
6. 900,000 = 9 x 10° 16. 5,9 x 102 = 590

7. 710,000 = 7.1 x 10° 17. 6.4 x 10° = 640,000

8 13,000 = 1.3 x 10* 18. 2.8 x 102 = 280

% 54,000 = 5.4 x 10* 19 6.4 x 10° = 6,400,000
10. 24,000 = 2.4 x 10* 20. 5.7 x 10 = 67
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